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a. B B o 1.0 0.5
b.3 & K Qo 0.5 0.25
e ¢ U h (@] 0.5 0.25
d. ¥ U3vy b O 0.5 0.25
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h. B FTEDEHRE (o] 1.0 1.0
i.BEOBEHE (@] 0.5 0.25
i.EQTFsDEE O 1.0 1.0

2 ZEORKIEE sD2(a-)) 0.95
2 RBHORRER S02(1'n) (1.

72.0/37.0=1.95

1332. 0/2664. 0=0. 50
f1=0. 45, 2=0. 23

3.08/3. 79=0. 812

(a~jIHEIZEYT 51518
nIFEICEET 568)

B et HEAE ——————— _—
XA B sY GY eY SORT (B#B+L*L) Gl H!Jﬁ Zw (Al/E)le B n Gn SD2(l-n)
18.944 17.957 0.987 84.977 0.012 1.00 1955.9 24282 0.081 2.00 0.70 1.00 1.00
2 18.647 19.824 1.178 80.950 0.015 1.00  1609.7 56986 0.028 0.50 1.420.90 0.90
1 19.360 24.674 5.315 90.734 0.059 1.00  5349.7 76063 0.070 0.67 0.26 1.00  1.00
R @Bt / BEANE -
YAHRE> B SX GX eX SORT (B+B+L+L) Gl Al zZwW (HIJ/E)H: B n Gn SD2(l-n)
3 40 103 39.168 0.934 84.977 0.011 1.00 1912.0 24282 0.079 2.00 0.90 1.00 1.00
2 40.803 43.469 2. 666 80.950 0.033 1.00  2020.8 56986 0.035 0.50 1.111.00  1.00
1 43.317 53.217 9.900 90.734 0.109 0.90 5273.1 76063 0.069 0.67 0.34 1.00 0.90
2 REETORKISE sD2
B XAR YAR
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[==HL—F Gi —/ LYIHBRHY
1.0 0.9 0.8 RI1 R?
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b. & Lt o 0.5 0.25 72.0/37.0=1.95
e.{ U h @] 0.5 0.25
d.IFan Yvavy vk O 0.5 0.25
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h. B FEOEE e} 1.0 1.0
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fmr e T / HEAlE ———————————— —f
<XAME> B sY GY eY SORT (B+B+L#L) | Gl BlE sw BI/E)k 8 n Gn SD2(l-n)
3 19.122 18.083 1.039 84.977 0.012 1.00 2439.9 24416 0.100 2.00 1.13 1.00 1.00
2 18.769 18.947 0.178 80.950 0.002 1.00 3266.5 57647 0.057 0.50 0.88 1.00 1.00
1 19.479 24.262 4.783 90.734 0.053 1.00  5388.7 76935 0.070 0.67 0.53 1.00 1.00
[rmm———————— EREIE / HmEElE —————————— -/
YHED B SX GX eX SORT (B#B+LL) | Gl BlE Zw (BI/E)k B n Gn SD2(l-n)
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3 1. 00 0.789 0.95 0. 958 0.74 0.718
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1 1. 00 1. 038 0.95 0. 958 0.98 0.944
3 1. 00 0. 942 0.95 0. 958 0. 89 0. 857
Y
1 2 1. 00 0. 836 0.95 0. 958 0.79 0.761 0. 750
1 1. 00 1. 100 0.95 0. 958 1.04 1. 001

() sPIEB2TEME G 258 O AW TIRIE L7256
() PUIEB MM E E R OMmMatEA: CE L7256

S-0062




TR &
Jm| b HTRX M AR LT BREE RGEAHER D 7= D D Pk B
3 2 AT 0 AT 10 f&FT
X | 2 6 FEAT 1 f&FT 0 AT
1 6 f& T 0 f& T 0 AT
Jrra)| HTRR M AR A LT HEE KPR 72 b D P B
3 4 f5 P 0 T 0 f& AT
Y | 2 10 f& AT 0 FEAT 0 AT
1 6 f&5 P 0 T 0 f& AT
Jim| B | AESRARCE X AR
§ 3 1 T
Eg 2 1 &
] 1 6 T

VLED XD el a7 5 2 & T, HLERMEIERIHE T 5,

S-0063




iR O N
STRERCRE - RCHY L 4T BB DR

IF B/11-12

Fe= 17.6 N/mm2 hw/2= 2280 mm

X11 ZE4E C3 700 X 700 /7 N= 1148.0 kN oy= 294 N/mm2
GG i 5 - ¢22 at= 19.00 cm2
efkEn 18 - ¢22 ag=  68.40 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X12 HFE C9 350 X 350  #fhi/y N=  204.0 kN
5| 548 3 - ¢19 at= 8.52 cm?2
£ 8 - ¢19 ag=  22.72 cm2
HOOP 2 - 69 @ 250
i t= 300 mm ey DI @ 200D  ah= 2.54 cm2
1lwo= 3975 mm b DI3 @ 200D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2280 mm Ui D19 @ 150 #7054 A aoy= 345 N/mm2
B loXho= 0 X 0 F%pk 800 mm F%A% 1350 mm

FED i T R OR B X AV TN )

JERE 0.4b-D-Fc= 3449.6 kN = = 1148.0 kN
cMu= 0.8at+ o y-D+0.5N-D(1- N )
: : b-D-Fe
= 313+ 402 x (1 - 0.13)
= 661.1 kN'm
hco= 2280 mm cQmu= 2-cMu/hco
= 579.9 kN
Pt= 0.39 % FecQsu= | 0.053Pt”  (18+Fe) +0.85y (Pw*s o y)+0.10 0}
Pw= 0.0007 M/Q-d)+0. 12 ) :
M/ (Qd)= 1.75 = (0.81 + 0.39 + 0.23) X 700 X 560
co= 2.3 = 563.8 kN
i= 560
S.cQsu=  563.8 kN W AMTHREE
ErE 0.4b-D-Fc= 862.4 kN = N= 204.0kN
eMu= 70.1 + 35.7 X ( 1 — 0.09)
= 102.5 kN+m
hco= 2280 mm cQmu= 2-cMu/hco
= 89.9 kN
Pt= 0.7 % FicQsu= ( 0.56 + 0.56 + 0.17) X 350 X 280
Pw= 0.0015 = 125.5 kN
M/ (Qd) = 3
oo= 1.7 N/mm2
j= 280 mm S.cQsu=  89.9 kN Hb P HkEE

S-0064
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—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t ?0623? I:II? E wgsul= (O 0%1\?/1)5‘-31)%().1?;%) +0. 85y (Pse* o wy)+0. 1 o oe} -be:j- vy
be= 359 mm = (1.35 + 0.94 + 0.07) X 359 X 4500 X 1
Pte= 0.38 9% 0.13 % = 3814.7 kN
Pse= 0.004

M/Q1= 1. 00 A wQsul= (1.05 + 0.94 + 0.07) X 359 X 4500 X 1
o oe= 0.75 N/mm2 = 3326.9 kN
je= 4500 mm
B= 0 wQsul= 3570. 8 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0042 max( 1736.6 , 2299.3)
2299. 3 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.014 0.019
oo= 2.3, 1.7 N/mm2
o= 6.4, 7.1 N/mm2 0. 33Fc—2. 75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to="7.03, 7.36N/mm2
/£ pQc= Kmin* t o*be*D #i pQe= 359.2 kN

= 1372.7 kN
WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 1.0, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A

Qj= 68.86 X 54 = 3718.4 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
min( 2926.0, 4641.4)
2926. 0 kN

SowQsu= 2926. 0 kN

IF B/11-171E 2299.3 + 1.0 X 552 + 0.7 X 86 + 2299.3

+ 1.0 X 563 + 2299.3 + 0.7 X 85

+ 2299.3 + 1.0 X 8836 = 19267.9 kN — 19200 kN
IF B/11-17& 2299.3 + 1.0 X 552 + 0.7 X 86 + 2299.3

+ 1.0 X 563 + 2299.3 + 0.7 X 85

+ 2299.3 + 1.0 X 8836

19267.9 kN — 19200 kN

IF F/13-171E 2299.3 + 1.0 X 562 + 0.7 X 92 + 2299.3

+ 1.0 X 9820 15045.0 kN — 15000 kN
IF F/13-178 2299.3 + 1.0 X 562 + 0.7 X 92 + 2299.3

+ 1.0 X 9820 15045.0 kN — 15000 kN

S-0065



IF B/12-13

Fe= 17.6 N/mm2 hw/2= 2280 mm

X12 ZEAFE C9 350 X 350 /7 N=  204.0 kN oy= 294 N/mm2
5| 5RAa 3 - ¢19 at= 8.52 cm?2
EXINiT] 8 - ¢19 ag=  22.72 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X13 HFE C4 700 X 700  #f/y N= 1307.0 kN
GG i 5 - ¢22 at= 19.00 cm2
2Ry 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250
ina t= 300 mm ey DI @ 200D  ah= 2.54 cm2
1lwo= 3975 mm b DI3 @ 200D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2280 mm b5 D19 @ 150 #7054 A acy= 345 N/mm2

BIM loXho= 0 X 0 F%pk 800 mm T¥E% 1350 mm

FE D il F BRI AT 7
JERE 0.4b-D-Fe= 862.4kN = N= 204.0 kN
cMu= 0.8at+ o y-D+0.5N-D(1- N )
‘ : b-D-Fe

=70.1 +35.7X (1-0.09)

= 102.5 kN'm
hco= 2280 mm cQmu= 2-cMu/hco
= 89.9 kN
Pt= 0.7 % Feeqsu= {0 053Pt" ¥ (18+Fc) 85y (Pw-soy)+0. 100} +b-j
Pw= 0.0015 M/Q-d)+0. 12
M/ (Qd) = 3 = (0.56 + 0.56 + 0.17) X 350 x 280
co= 1.7 = 125.5 kN
= 280
CocQsu=  89.9 kN i
ErE 0.4b-D-Fc= 3449.6 kN = N= 1307.0 kN
eMu= 313 + 457 X (1 - 0.15)
= 700.9 kN-m
hco= 2280 mm cQmu= 2-cMu/hco
= 614.9 kN
Pt= 0.39 % FicQsu= (0.81 + 0.39 + 0.27) X 700 X 560
Pw= 0.0007 = 576.5 kN
M/ (Qd)= 1.75
oo= 2.7 N/mm2
j= 560 mm C.cQsu=  576.5 kN B AWTAREE

S-0066



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t ?0623? I:II? E wgsul= (O 0%1\?/1)5‘-31)%().1?;%) +0. 85y (Pse* o wy)+0. 1 o oe} -be:j- vy
be= 359 mm = (1.05 + 0.94 + 0.08) X 359 X 4500 X 1
Pte= 0.13 9% 0.34 % = 3341.2 kN
Pse= 0.004

M/Q1= 1. 00 A wQsul= (1.31 + 0.94 + 0.08) X 359 X 4500 X 1
o oe= 0.84 N/mm2 = 3770.7 kN
je= 4500 mm
B= 0 wQsul= 3556. 0 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0042 max( 1736.6 , 2299.3)
2299. 3 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.019 0.012
oo= 1.7, 2.7 N/mm2
o= 1.1, 6.3 N/mm2 0. 33Fc-2.75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to="7.36, 6.97 N/mm2
/£ pQc= Kmin* t o+be*D 47 pQe= 1360.1 kN

= 359.2 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 1.0 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 54 = 3718.4 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
min( 2938.7, 4654.1)
2938. 7 kN

SowQsu= 2938. 7 kN

S-0067



2F B/11-13

Fe= 17.6 N/mm2 hw/2= 2590 mm

X11 Z#E C3 700 X 700  #fJ7 N=  890.0 kN oy= 294 N/mm2
GG i 5 - ¢22 at= 19.00 cm2
efkEn 18 - ¢22 ag=  68.40 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X13 HFE C4 700 X 700  #fh/y N= 1075.0 kN
GG i 5 - ¢22 at= 19.00 cm2
ek 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250
ina t= 350 mm ey DI @ 150D  ah= 2.54 cm2
1lwo= 8300 mm b DI3 @ 150D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2590 mm TUh-f5 D19 @ 150 ¥ 7w 110 & aoy= 345 N/mm2

B loXho= 0 X 0 %5k 1200 mm F%A% 800 mm

FE D il F BEAR R A WP 7
JERE 0.4b-D-Fc= 3449.6 kN = N= 890.0 kN

_ N
cMu= 0.8at+ o y+D+0.5N-D(1 b-D-Fe
= 313+ 312X (1- 0.1)

)

= 592.2 kN'm
hco= 2590 mm cQmu= 2-cMu/hco
= 457.3 kN
Pt= 0.39 % FecQsu= | 0.053Pt ® (18+Fe) +0. 85y (Pwsoy)+0.1 g0} +b-j
Pw= 0. 0007 M/Q-d)+0. 12 ) :
M/ (Qd)= 1.99 = (0.72 + 0.39 + 0.18) X 700 X 560
oo= 1.8 = 507.3 kN
= 560
C.cQsu=  457.3 kN i A
ErE 0.4b-D-Fc= 3449.6 kN = N= 1075.0 kN
cMu= 313 + 376 X (1 — 0.12)
= 642.2 kN+m
hco= 2590 mm cQmu= 2-cMu/hco
= 495.9 kN
Pt= 0.39 % FicQsu= (0.72 + 0.39 + 0.22) X 700 X 560
Pw= 0.0007 = 522.1kN
M/ (Qd)= 1.99
0o0= 2.2 N/mm2
j= 560 mm c.cQsu=  495.9 kN Hf P RkEE

S-0068



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t 2.728 I:II? i wgsul= (O O%l\i/Pé‘-al)%().l?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 401 mm = (1.13 + 1.03 + 0.05) X 401 X 9000 X 1
Pte= 0.18 9% 0.16 % = 7950.0 kN
Pse= 0.004

M/Q1= 1. 00 A wQsul= ( 1.1 + 1.03 + 0.05) X 401 X 9000 X 1
o oe= 0.51 N/mm2 = 7841.1 kN
je= 9000 mm
B= 0 wQsul= 7895. 6 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0048 max ( 4834.8 , 5903.4)
5903. 4 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.014 0.012
oo= 1.8, 2.2 N/mm2
o= 5.9, 5.8 N/mm2 0. 33Fc—2.75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.77, 6.73 N/mm2
/£ pQc= Kmin* t o+be*D 47 pQe= 1314. 8 kN

= 1322.3 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 110 = 7574.5 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
min( 6570.6 , 9209.5)
6570. 6 kN

CowQsu= 6570. 6 kN

2F B/11-151F 5903.4 + 0.7 X 463 + 0.7 X 491
+ 3826.3 + 0.7 X 472

2F B/11-15& 5903.4 + 0.7 X 463 + 0.7 X 491
+ 3826.3 + 0.7 X 472

10727.9 kN  — 10700 kN

10727.9 kN  — 10700 kN

389 6506.1 kN — 6500 kN
389 = 6506.1 kN — 6500 kN

2F C/11-131E 5903.4 + 0.7 X 472 +
2F C/11-13# 5903.4 + 0.7 X 472 +

oo
ESEEN
X X

S-0069



2F B/13-15

Fe= 17.6 N/mm2 hw/2= 2590 mm

X13 FEfE C4 700 X 700 /7 N= 1075.0 kN oy= 294 N/mm2
GG i 5 - ¢22 at= 19.00 cm2
2fkEr 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X15 HFE C4 700 X 700  #f/y N= 1010.0 kN
GG i 5 - ¢22 at= 19.00 cm2
2Ry 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250
ina t= 350 mm ey DI @ 150D  ah= 2.54 cm2
1wo= 8300 mm b DI3 @ 150D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2590 mm b5 D19 @ 150 ¥ 7 82 A acy= 345 N/mm2

BAT1 loXho= 2000 X 2000 F¥%pk 1200 mm FZAE 800 mm

A fl F JE AR BfE AT )
FERE 0.4b+D-Fc= 3449.6 kN = N= 1075.0 kN

cMu= 0.8at+ o y-D+0.5N-D(1- ];\] )

b+D-Fec
= 313+ 376X (1-0.12)
= 642.2 kN'm
hco= 2590 mm cQmu= 2-cMu/hco
= 495.9 kN
Pt= 0.39 % FecQsu= | 0.053Pt”  (18+Fc) +0. 85y (Pwsoy)+0. 100} +b-j
Pw= 0. 0007 M/Q-d)+0. 12 ) :
M/ (Qd)= 1. 99 = (0.72 + 0.39 + 0.22) X 700 X 560
co= 2.2 = 522.1kN
= 560
C.cQsu=  495.9 kN i
ErE 0.4b-D-Fc= 3449.6 kN = N= 1010.0 kN
cMu= 313 + 354 X (1 - 0.12)
= 624.9 kNm
hco= 2590 mm cQmu= 2-cMu/hco
= 482.6 kN
Pt= 0.39 % FieQsu= (1 0.72 + 0.39 + 0.21) X 700 X 560
Pw= 0.0007 = 516.9 kN
M/ (Qd)= 1.99
oo= 2.1 N/mm2
j= 560 mm C.cQsu=  482.6 kN Hh P HkEE

S-0070



—IKFTD & LTcBEDE AW /)

_ 0.23
E:i; g?gg 2? E wQsul= { 0'0%ﬁ55?1)+é??;FC) 0. 854 (Pse+ 6 wy)+0. 1 6 oe} +be+j* y
be= 401 mm — ( 1.1+ 1.03+0.05) X 401 X 9000 X 0.65
Pte= 0.16 % 0.16 % ~ 5089. 4 kN
Pse= 0.004
M/Ql= 1. 00 £ wosul= ( L1 + 1.03 + 0.05) X 401 X 9000 X 0.65
o 0e= 0. 54 N/mm2 ~ 5089. 4 kN
je= 9000 mm
5= 0.35 wQsul= 5089. 4 kN
v=0.65
PEERBEMR O W AWt )

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0048 max( 3133.7, 3826.3)
3826. 3 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.012 0.012
oo= 2.2, 2.1 N/mm2
o= 5.8, 5.7 N/mm2 0. 33Fc—2. 75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.73, 6.67 N/mm2
/£ pQc= Kmin* t o+be*D #7 pQe= 1302.1 kN

= 1314.8 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 82 = 5646.5 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
min( 4511.2, 7295.7)
4511. 2 kN

CowQsu= 4511. 2 kN

S-0071



2F F/13-15

Fe= 17.6 N/mm2 hw/2= 2590 mm

X13 FEfE C4 700 X 700  #flJ7 N=  916.0 kN oy= 294 N/mm2
GG i 5 - ¢22 at= 19.00 cm2
2fkEr 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X15 HFE C4 700 X 700  #fh/7 N=  960.0 kN
GG i 5 - ¢22 at= 19.00 cm2
2Ry 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250
ina t= 350 mm ey DI @ 150D  ah= 2.54 cm2
1wo= 8300 mm b DI3 @ 150D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2590 mm b5 D19 @ 150 #7794 A acy= 345 N/mm2

BAI1 loXho= 1000 X 2000 F¥%ak 1200 mm FZAK 800 mm

FED i T R OR B X AV TN )

JERE 0.4b-D-Fc= 3449.6 kN = N= 916.0 kN
cMu= 0.8at*: o y+D+0.5N-D(1- b-D-Fe )

= 313+ 321 x (1-0.11)

= 599.4 kN'm
hco= 2590 mm cQmu= 2-cMu/hco

= 462.8 kN
Pt= 0.39 % FecQsu= | 0.053Pt”  (18+Fc) +0. 85y (Pwsoy)+0. 100} +b-j
Pw= 0. 0007 M/Q-d)+0. 12 ) :

M/ (Qd)= 1. 99 = (0.72 + 0.39 + 0.19) X 700 X 560
oo= 1.9 = 509.4 kN
= 560
CocQsu=  462.8 kN i A
ErE 0.4b-D-Fc= 3449.6 kN = N= 960.0 kN
eMu= 313 + 336 x (1 - 0.11)

= 611.4 kN°m
hco= 2590 mm cQmu= 2-cMu/hco

= 472.1 kN
Pt= 0.39 % FeQsu= (0.72 + 0.39 + 0.2) X 700 X 560
Pw= 0.0007 = 512.9 kN

M/ (Qd)= 1.99
oo= 2.0 N/mm2
j= 560 mm J.cQsu= 47201 kN Hh P RREE

S-0072



—IKFTD & LTcBEDE AW /)

_ 0.23
E:i; g?gg 2? E wQsul= { 0'0%ﬁ55?1)+é??;FC) 0. 854 (Pse+ 6 wy)+0. 1 6 oe} +be+j* y
be= 401 mm — ( 1.1+ 1.03+0.05) X 401 X 9000 x 0.75
Pte= 0.16 % 0.16 % — 5884.1 kN
Pse= 0.004
M/Ql= 1. 00 £ wosul= ( L1 + 1.03 + 0.05) X 401 X 9000 X 0.75
o 0e= 0. 48 N/mm2 — 58841 kN
je= 9000 mm
5= 0.25 wQsul= 5884. 1 kN
v=0.75
PEERBEMR O W AWt )

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0048 max( 3631.9, 4434.6)
4434. 6 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.012 0.012
oo= 1.9, 2.0 N/mm2
o= b.5, 5.6 N/mm2 0. 33Fc-2.75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to= 6.58, 6.62 N/mm2
/£ pQc= Kmin* t o+be*D #7 pQe= 1292. 4 kN

= 1283.8 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 94 = 6472.8 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( 5089.1, 8087.1)
= 5089.1 kN

SowQsu= 5089. 1 kN

2F F/7-91F 4434.6 + 0.7 X 1177 + 1.0 X 575 = b833.5 kN — 5800 kN
2F F/7-98 4434.6 + 1.0 X 1910 + 1.0 X 575 = 6919.6 kN — 6900 kN
2F F/13-171E 4434.6 + 0.7 X 475 + 0.7 X 474

+ 3932.3 + 1.0 X 963 = 9994.2 kN — 9900 kN
2F F/13-17#& 4434.6 + 0.7 X 475 + 0.7 X 474

+ 3932.3 + 1.0 X 963 = 9994.2 kN — 9900 kN

S-0073



2F F/15-17

Fe= 17.6 N/mm2 hw/2= 2590 mm

X15 ZFEFE C4 700 X 700  #flJ7 N=  960.0 kN oy= 294 N/mm2
5 3R 5 - ¢22 at= 19.00 cm2
] 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X17 454 6 1200 X 550  d#ifi/) N= 1087.0 kN
GG i T - 22 at=  26.60 cm2
] 30 - ¢22 ag= 114.00 ¢cm2
HOOP 2 - ¢9 @ 250
i t= 350 mm Wefy DI3 @ 150D  ah= 2.54 cm2
lwo= 8435 mm b DI3 @ 150D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2590 mm TUA-fg; D19 @ 150 47V 86 A aoy= 345 N/mm2

BAT1 loXho= 2000 X 2000 F¥%pk 1200 mm FZAE 800 mm

FED i T R OR B X AV TN )

JERE 0.4b-D-Fc= 3449.6 kN = N= 960.0 kN
cMu= 0.8at*: o y+D+0.5N-D(1- b-D-Fe )

= 313+ 336 x (1-0.11)

= 611.4 kN'm
hco= 2590 mm cQmu= 2-cMu/hco

= 472.1 kN
Pt= 0.39 % FecQsu= | 0.053Pt"  (18+Fe) +0. 85y (Pwsoy)+0.1o 0} +b-j
Pw= 0.0007 M/Q-d)+0. 12 ) :

M/ (Qd)= 1.99 = (0.72 + 0.39 + 0.2) X 700 X 560
co= 2.0 = 512.9 kN
i= 560
CoeQsu=  472.1 kN i
ErE 0.4b-D-Fc= 4646.4 kN = N= 1087.0 kN
cMu= 751 + 652 X (1 - 0.09)

= 1341.9 kN'm
hco= 2590 mm cQmu= 2-cMu/hco

= 1036. 2 kN
Pt= 0.4 % FicQsu= (1.23 + 0.44 + 0.16) X 550 X 960
Pw= 0.0009 = 970.4 kN

M/ (Qd)= 1.13
oo= 1.6 N/mm2
= 960 mm CoeQsu=  970.4 kN B AWTAREE

S-0074



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t 1(113.3?:2 i wgsul= (O 0%1\?/1)5-61)%().1?;%) +0. 85y (Pse* o wy)+0. 1 o oe} -be:j- vy
be= 397 mm = (1.09 + 1.03 + 0.05) X 397 X 9385 X 0.66
Pte= 0.15 % 0. 28 % = b287.5 kN
Pse= 0.004
M/Q1= 1. 00 A wQsul= (1.25 + 1.03 + 0.05) X 397 X 9385 X 0.66
ooe= 0.5 N/mm2 = 5699.9 kN
je= 9385 mm
B=0.34 wQsul= 5493. 7 kN
y = 0.66
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0048 max( 3220.5, 3932.3)
3932. 3 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.012 0.017
oo= 2.0, 1.6 N/mm2
o= 5.6, 6.7 N/mm2 0. 33Fc-2.75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.62, 7.17 N/mm2
/£ pQc= Kmin* t o+be*D 47 pQe= 1884. 8 kN

= 1292.4 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 1.0 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 86 = 5921.9 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
min( 5233.2, 8137.2)
5233. 2 kN

CowQsu= 5233. 2 kN

S-0075



3F B/11-13

Fe= 17.6 N/mm2 hw/2= 2520 mm

X11 Z#E C3 550 X 550  Hifi/7 N=  342.0 kN oy= 294 N/mm2
GG i 4 - ¢22 at= 15.20 cm2
2fkEr 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X13 HFE C4 550 X 550 i/ N= 388.0 kN
GG i 4 - $22 at= 15.20 cm2
ey 12 - ¢22 ag=  45.60 cm2
HOOP 2 - ¢9 @ 250
ina t= 250 mm ey DI @ 250D ah= 2.54 cm2
1lwo= 8450 mm b DI3 @ 250D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2520 mm T/E-f D19 @ 150 #1111 A aoy= 345 N/mm2

BIM loXho= 0 X 0 F¥%pk 1000 mm F¥EE 1200 mm

FE D il F BRI AT 7
JERE 0.4b-D-Fe= 2129.6 kN = N= 342.0 kN
cMu= 0.8at* o y-D+0.5N-D(1- N )
: : b-D-Fe
= 197 + 94.1 X (1 - 0.06)
= 284.6 kN'm
hco= 2520 mm cQmu= 2-cMu/hco
=  225.9 kN
Pt= 0.5 % Frosue [ 0-083PtTF(18+Fe) o 85y (Pws o v)+0. 100} *b-j
Pw= 0. 0009 M/Q-d)+0. 12
M/ (Qd)= 2. 52 = (0.61 + 0.44 + 0.11) X 550 X 440
oo= 1.1 = 282.6 kN
i= 440
CoeQsu=  225.9 kN i
ErE 0.4b-D-Fc= 2129.6 kN = N= 388.0kN
cMu= 197 + 107 X ( 1 — 0.07)
= 295.6 kN-m
hco= 1990 mm cQmu= 2-cMu/hco
= 297.0 kN
Pt= 0.5 % FicQsu= (0.76 + 0.44 + 0.13) X 550 X 440
Pw= 0.0009 = 323.4 kN
M/ (Qd)= 1.99
oo= 1.3 N/mm2
j= 440 mm CS.cQsu=  297.0 kN Hh P RkEE

S-0076



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t 255(2) I:II? i wgsul= (O OZ&/P(;):?IH(().I?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 285 mm = (1.19 + 0.94 + 0.03) X 285 X 9000 X 1
Pte= 0.22 % 0.17 % = b5538.7 kN
Pse= 0.004

M/Q1= 1. 00 A wQsul= (1.12 + 0.94 + 0.03) X 285 X 9000 X 1
o oe= 0.27 N/mm2 = 5343.0 kN
je= 9000 mm
B= 0 wQsul= 5440.9 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0041 max( 2953.3, 4011.7)
4011. 7 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.020 0.015
oo= 1.1, 1. 3 N/mm2
o= 1.0, 5.7 N/mm2 0. 33Fc—2. 75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to="7.32, 6.67N/mm2
/£ pQc= Kmin* t o*be*D #i pQe=  804. 2 kN

= 882.4 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 111 = 7643.4 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( 4377.7, 8605.7)
= 4377.7 kN

CowQsu= 4377.7 kN

3F B/11-131E 4011.7 + 0.7 X 231 + 0.7 X 307 = 4388.3 kN — 4300 kN
3F B/11-13& 4011.7 + 0.7 X 231 + 0.7 X 307 = 4388.3 kN — 4300 kN
3F F/3-51E 4011.7 + 0.7 X 228 + 0.7 X 243 = 4341.4kN — 4300 kN
3F F/3-58 4011.7 + 0.7 X 228 + 0.7 X 243 = 4341.4kN — 4300 kN

S-0077



1F 3/B-C

Fe= 17.6 N/mm2 hw/2= 4940 mm

B EfECl 700 X 700  #flJ7 N=  909.0 kN ovy= 294 N/mm2
GG i 6 - ¢22 at= 22.80 cm2
efkEn 18 - ¢22 ag=  68.40 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
C FFE Cl 700 X 700  #fh/) N=  704.0 kN
GG i 6 - ¢22 at= 22.80 cm2
ek 18 - ¢22 ag=  68.40 cm2
HOOP 2 - ¢9 @ 250
ina t= 350 mm ey DI @ 150D  ah= 2.54 cm2
1lwo= 2300 mm b DI3 @ 150D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 4940 mm TUh-f5 D19 @ 150 47 v 30 A acy= 345 N/mm2

B loXho= 0 X 0 %5k 800 mm F¥%a% 700 mm

FED i T R OR B X AV TN )

JERE 0.4b-D-Fc= 3449.6 kN = N= 909.0 kN
cMu= 0.8at* ¢ y+D+0.5N-D(1- b-D-Fe )

= 375 + 318 x (1 -0.11)

= 660.0 kN'm
hco= 4940 mm cQmu= 2-cMu/hco

= 267.2 kN
PL= 0.47 % FecQsu= | 0.053Pt”  (18+Fe) +0. 85y (Pwsoy)+0.10 0} +b-j
Pw= 0.0007 M/Q-d)+0. 12 ) :

M/ (Qd) = 3 = (0.51l +0.39 + 0.19) X 700 X 560
oo= 1.9 426. 0 kN
i= 560
CoeQsu=  267.2 kN i
ErE 0.4b-D-Fc= 3449.6 kN = N= 704.0 kN
cMu= 375 + 246 X ( 1 - 0.08)

= 601.7 kN'm
hco= 4940 mm cQmu= 2-cMu/hco

= 243.6 kN
Pt= 0.47 % FicQsu= ( 0.51 + 0.39 + 0.14) X 700 X 560
Pw= 0.0007 = 409.6 kN

M/ (Qd) = 3
oo= 1.4 N/mm2
j= 560 mm C.cQsu=  243.6 kN Hh P RkEE

S-0078



—IKFTD & LTcBEDE AW /)

_ 0.23
E:i; ffgg 2? E wQsul= { 0'05555?1)+é??;FC) 0. 854 (Pse+ 6 wy)+0. 1 6 oe} +be+j* y
be= 482 mm — (103 + 0.93 + 0.09) X 482 X 3000 X 1
Pte= 0.38 % 0.38 % ~ 2969.0 kN
Pse= 0.004
M/Ql= 1.35 £ wosul= (1,03 + 0.93 + 0.09) X 482 X 3000 X 1
ooe= 0.9 N/m2 ~ 2969.0 kN
je= 3000 mm
5= 0 WQsul= 2969. 0 kN
y= 1
PEERBEMR O W AWt )

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0048 max ( 1339.8 1635.9 )
1635. 9 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.014 0.014
oo= 1.9, 1.4 N/mm2
o= 6.0, 5.5 N/mm2 0. 33Fc-2. 75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.79, 6.59 N/mm2
/£ pQc= Kmin* t o+be*D #7 pQe= 1286.0 kN

= 1326.0 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 30 = 2065.8 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( 1993.4, 3538.8)
= 1993.4 kN

SowQsu= 1993. 4 kN

1-2F 3/B-CIE 1635.9 + 0.7 X 272 + 0.7 X 234 = 1990.1 kN — 1900 kN
1-2F 3/B-CH 1635.9 + 0.7 X 272 + 0.7 X 234 = 1990.1 kN — 1900 kN
1-2F 3/E-FIE 1635.9 + 0.7 X 249 + 0.7 X 272 = 2000.6 kN — 1900 kN
1-2F 3/E-F& 1635.9 + 0.7 X 249 + 0.7 X 272 = 2000.6 kN — 1900 kN
1-2F 5/B-CIE 1635.9 + 0.7 X 277 + 0.7 X 233 = 1992.9 kN — 1900 kN
1-2F 5/B-CA 1635.9 + 0.7 X 277 + 0.7 X 233 = 1992.9 kN — 1900 kN
1-2F 5/E-FIE 1635.9 + 0.7 X 232 + 0.7 X 276 = 1991.5 kN — 1900 kN
1-2F 5/E-F& 1635.9 + 0.7 X 232 + 0.7 X 276 = 1991.5 kN — 1900 kN

S-0079



2F 11/C-D

Fe= 17.6 N/mm2 hw/2= 2990 mm

C fERE €3 700 X 700  #flJ7 N=  905.0 kN ovy= 294 N/mm2
GG i 6 - ¢22 at= 22.80 cm2
efkEn 18 - ¢22 ag=  68.40 cm2
HOOP 2 - 99 @ 250 soy= 294 N/mm2
D fFE ¢4 700 X 700  #fh/) N= 625.0 kN
GG i 5 - ¢22 at= 19.00 cm2
2Ry 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250
B t= 350 mm ME5  DI3 @ 150D  ah= 2.54 cm2
1wo= 5800 mm s owseoe @ 150D ah= 3.26 cm2 o wy= 344 N/mm2
hwo= 2990 mm Tuh-f5 D19 @ 150 ¥ 7 T8 A aocy= 345 N/mm2

B loXho= 0 X 0 %5k 800 mm F%a% 800 mm

FE D il F BRI AT 7
JERE 0.4b-D-Fc= 3449.6 kN = N= 905.0 kN

_ N
cMu= 0.8at+ o y+D+0.5N-D(1 b-D-Fe
= 375+ 317X (1- 0.1)

)

= 658.9 kN'm
hco= 2990 mm cQmu= 2-cMu/hco
= 440.7 kN
PL= 0.47 % FecQsu= | 0.053Pt”  (18+Fe) +0. 85y (Pwsoy)+0.10 0} +b-j
Pw= 0.0007 M/Q-d)+0. 12 ) :
M/ (Qd)= 2.3 = (0.65 + 0.39 + 0.18) X 700 X 560
oo= 1.8 = 483.2 kN
= 560
CoeQsu=  440.7 kN i
ErE 0.4b-D-Fc= 3449.6 kN = N= 625.0 kN
eMu= 313 + 219 x (1 - 0.07)
= 515.7 kN'm
hco= 2990 mm cQmu= 2-cMu/hco
= 345.0 kN
Pt= 0.39 % FicQsu= (0.63 + 0.39 + 0.13) X 700 X 560
Pw= 0.0007 = 450.3 kN
M/(Qd)= 2.3
oo= 1.3 N/mm2
j= 560 mm C.cQsu= 3450 kN fh P RkEE

S-0080



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t 2.28(1) I:II? i wgsul= (O OZ&/P(;):?IH(().I?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 418 mm = ( 1.2 + 1.14 + 0.05) X 418 X 6500 X 1
Pte= 0.23 % 0.2 % = 6482.7 kN
Pse= 0.005

M/Q1= 1. 00 A wQsul= (1.17 + 1.14 + 0.05) X 418 X 6500 X 1
o oe= 0.51 N/mm2 = 6395.7 kN
je= 6500 mm
B= 0 wQsul= 6439. 2 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0062 max ( 4336.2, 4604.1)
4604. 1 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.014 0.012
oo= 1.8, 1. 3 N/mm2
o= 6.0, 4.9 N/mm2 0. 33Fc-2. 75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.79, 6.28 N/mm2
/£ pQc= Kmin* t o+be*D #7 pQe= 1227.0 kN

= 1325.2 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A

Qj= 68.86 X 78 = 5371.0 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( b5154.1, 6906.5)
= b5154.1 kN

CowQsu= 5154.1 kN

2F 11/C-DIE 4604.1 + 0.7 X 452 + 0.7 X 361 = b173.2kN — 5100 kN
2F 11/C-D& 4604.1 + 0.7 X 452 + 0.7 X 361 = b5173.2kN — 5100 kN
2F 13/C-DIE 4604.1 + 0.7 X 337 + 0.7 X 376 = 5103.2kN — 5100 kN
2F 13/C-D& 4604.1 + 0.7 X 337 + 0.7 X 376 = 5103.2kN — 5100 kN

S-0081



2F 15/C-D

Fe= 17.6 N/mm2 hw/2= 2990 mm

C ZERE C4 700 X 700  #flS7 N=  704.0 kN ovy= 294 N/mm2
GG i 5 - ¢22 at= 19.00 cm2
2fkEr 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
D FFE C4 700 X 700  #f/y N= 1018.0 kN
GG i 5 - ¢22 at= 19.00 cm2
2Ry 16 - ¢22 ag=  60.80 cm2
HOOP 2 - ¢9 @ 250
B t= 350 mm ME5  DI3 @ 150D  ah= 2.54 cm2
1wo= 5800 mm s owseoe @ 150D ah= 3.26 cm2 o wy= 344 N/mm2
hwo= 2990 mm Tuh-f5 D19 @ 150 ¥ 7 T8 A aocy= 345 N/mm2

B loXho= 0 X 0 %5k 800 mm F%a% 800 mm

FE D il F BRI AT 7
JERE 0.4b-D-Fc= 3449.6 kN = N= 704.0 kN

_ N
cMu= 0.8at+ o y+D+0.5N-D(1 b-D-Fe

= 313+ 246 X (1 - 0.08)

)

= 539.1 kN'm
hco= 2990 mm cQmu= 2-cMu/hco
= 360.6 kN
Pt= 0.39 % FecQsu= | 0.053Pt”  (18+Fe) +0. 85y (Pwsoy)+0.10 0} +b-j
Pw= 0.0007 M/Q-d)+0. 12 ) :
M/ (Qd)= 2.3 = (0.63 +0.39 + 0.14) X 700 X 560
co= 1.4 = 456.6 kN
= 560
CocQsu=  360.6 kN i A
ErE 0.4b-D-Fc= 3449.6 kN = N= 1018.0 kN
eMu= 313 + 356 X (1 - 0.12)
= 627.1kN'm
hco= 2990 mm cQmu= 2-cMu/hco
= 419.4 kN
Pt= 0.39 % FicQsu= (0.63 + 0.39 + 0.21) X 700 X 560
Pw= 0.0007 = 481.7 kN
M/(Qd)= 2.3
oo= 2.1 N/mm2
j= 560 mm C.cQsu=  419.4 kN fhPRkREE

S-0082



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t 2.28(1) I:II? i wgsul= (O OZ&/P(;):?IH(().I?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 418 mm = (1.17 + 1.14 + 0.06) X 418 X 6500 X 1
Pte= 0.2 % 0.2 % = 6413.0 kN
Pse= 0.005

M/Q1= 1. 00 A wQsul= (1.17 + 1.14 + 0.06) X 418 X 6500 X 1
o oe= 0.57 N/mm2 = 6413.0 kN
je= 6500 mm
B= 0 wQsul= 6413. 0 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0062 max ( 4336.2, 4604.1)
4604. 1 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.012 0.012
oo= 1.4, 2.1 N/mm2
o= b.1, 5.7 N/mm2 0. 33Fc-2.75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.36, 6.68N/mm2
/£ pQc= Kmin* t o+be*D #7 pQe= 1303.7 kN

= 1242.4 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 78 = 5371.0 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( 5150.1, 6907.0)
= 5150.1 kN

CowQsu= 5150. 1 kN

2F 15/C-E1E 4604.1 + 0.7 X 369 + 0.7 X 426

+ 4604.1 + 0.7 X 368 = 10022. 3 kN — 10000 kN
2F 15/C-E#& 4604.1 + 0.7 X 369 + 0.7 X 426

+ 4604.1 + 0.7 X 368 = 10022. 3 kN — 10000 kN

S-0083



3F 15/C-D

Fe= 17.6 N/mm2 hw/2= 2820 mm

C  EFEC4 550 X 550  Hfifi/7 N=  112.0 kN ovy= 294 N/mm2
GG i 4 - ¢22 at= 15.20 cm2
efEn 12 - 622 ag=  45.60 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
D HFEC4 550 X 550  #fi/) N= 164.0 kN
51 aRAR 4 - ¢22 at=  15.20 cm2
ey 12 - ¢22 ag=  45.60 cm2
HOOP 2 - ¢9 @ 250
ina t= 350 mm ey DI @ 250D ah= 2.54 cm2
lwo= 5950 mm & D13 @ 250D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2820 mm TVI-f5 D19 @ 150 1) 79 A aocy= 345 N/mm2

B loXho= 0 X 0 %5k 700 mm F%A% 800 mm

FE D il F BRI AT 7
JERE 0.4b-D-Fe= 2129.6 kN = N= 112.0 kN

cMu= 0.8at+ o y-D+0.5N-D(1- ];\] )

b+D-Fec
= 197 + 30.8 X (1 - 0.02)
= 226.8 kN-m
hco= 2290 mm cQmu= 2-cMu/hco
= 198.1kN
Pt= 0.5 % Feeqsu= {0 053Pt" * (18+Fc) 85y (Pw-soy)+0. 100} +b-j
Pw= 0. 0009 M/Q-d)+0. 12
M/ (Qd)= 2.29 = (0.67 + 0.44 + 0.04) X 550 X 440
co= 0.4 = 278.3 kN
j= 440
CocQsu=  198.1 kN i
ErE 0.4b-D-Fc= 2129.6 kN = N= 164.0 kN
eMu= 197 + 45.1 %X ( 1 - 0.03)
= 240.3 kN+m
hco= 2820 mm cQmu= 2-cMu/hco
= 170.5 kN
Pt= 0.5 % FicQsu= ( 0.55 + 0.44 + 0.05) X 550 X 440
Pw= 0.0009 = 253.3 kN
M/ (Qd)= 2.82
oo= 0.5 N/mm2
j= 440 mm C.cQsu=  170.5 kN Hf P RkEE

S-0084



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t ;.028 I:II? i wgsul= (O OZ&/P(;):?IH(().I?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 381 mm = (1.12 + 0.81 + 0.01) X 381 X 6500 X 1
Pte= 0.17 9% 0.17 % = 4818.0 kN
Pse= 0.003

M/Ql= 1. 00 A wQsul= (1.12 + 0.81 + 0.01) X 381 X 6500 X 1
ooe= 0.1 N/mm2 = 4818.0 kN
je= 6500 mm
B= 0 wQsul= 4818. 0 kN
y= 1
AR BERR ¥ AW )

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0029 max( 2079.5, 3538.8)
3538. 8 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.015 0.015
oo= 0.4, 0.5N/mm2
o= 4.8, 5.0 N/mm2 0. 33Fc—2. 75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=6.23, 6.31 N/mm2
/£ pQc= Kmin* t o*be*D 47 pQe=  760. 4 kN

= 750.3 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 79 = 5439.9 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
min( 3796.7, 6309.5)
3796. 7 kN

SowQsu= 3796. 7 kN

3F 3/C-EIE 3638.8 + 0.7 X 213 + 0.7 X 183

+ 35638.8 + 0.7 X 215 = 7505.2kN — 7400 kN
3F 3/C-E& 3638.8 + 0.7 X 213 + 0.7 X 183

+ 35638.8 + 0.7 X 215 = 7505.2kN — 7400 kN

3F 15/C-E1E 3638.8 + 0.7 X 215 + 0.7 X 183

+ 3b638.8 + 0.7 X 215 = 7506.6 kN — 7400 kN
3F 15/C-E#& 3638.8 + 0.7 X 2156 + 0.7 X 183
+ 3638.8 + 0.7 X 215 = 7506.6 kN — 7400 kN

S-0085



2F E/7-9

Fe= 17.6 N/mm2 hw/2= 2590 mm

X7 EAE C2 700 X 700 /7 N= 1831.0 kN ovy= 294 N/mm2
GG i 7 - $22 at=  26.60 cm2
28R 22 - ¢22 ag=  83.60 cm2
HOOP 2 - ¢9 @ 250 soy= 294 N/mm2
X9  HAE C2 700 X 700  #f/y N= 1514.0 kN
GG i 7 - ¢22 at=  26.60 cm2
ek 22 - ¢22 ag=  83.60 cm2
HOOP 2 - ¢9 @ 250
ina t= 370 mm ey DI @ 250D ah= 2.54 cm2
1lwo= 8300 mm b DI3 @ 250D ah= 2.54 cm2 owy= 344 N/mm2
hwo= 2590 mm TUh-f5 D19 @ 150 ¥ 7w 110 & aoy= 345 N/mm2

B loXho= 0 X 0 %5k 1200 mm F%A% 800 mm

FE D il F BEAR R A WP 7
JERE 0.4b-D-Fc= 3449.6 kN = = 1831.0 kN
cMu= 0.8at*: o y+D+0.5N-D(1- bD-Fe )
= 438 + 641 X (1 - 0.21)
= 942.7 kN'm
hco= 2590 mm cQmu= 2-cMu/hco
= 728.0 kN
Pt= 0.54 % FecQsu= | 0.053Pt  (18+Fe) +0. 85y (Pwsoy)+0.10 0} +b-j
Pw= 0.0007 M/Q-d)+0. 12 ) :
M/ (Qd)= 1.99 = (0.78 + 0.39 + 0.37) X 700 X 560
co= 3.7 = 605.2 kN
= 560
CS.cQsu=  605.2 kN W AMTHREE
ErE 0.4b-D-Fc= 3449.6 kN = N= 1514.0 kN
cMu= 438 + 530 X ( 1 - 0.18)
= 874.8 kN°m
hco= 2590 mm cQmu= 2-cMu/hco
= 675.5 kN
Pt= 0.54 % FicQsu= (0.78 + 0.39 + 0.31) X 700 X 560
Pw= 0.0007 = 579.9 kN
M/ (Qd)= 1.99
oo= 3.1 N/mm2
j= 560 mm CoeQsu=  579.9 kN B AWTAREE

S-0086



—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t ?1.78(5) I:II? i wgsul= (O OZ&/P(;):?IH(().I?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 418 mm = (1.17 + 0.78 + 0.08) X 418 X 9000 X 1
Pte= 0.21 9% 0.21 % = 7637.7 kN
Pse= 0.002

M/Q1= 1. 00 A wQsul= (1.17 + 0.78 + 0.08) X 418 x 9000 X 1
o oe= 0.83 N/mm2 = 7637.7 kN
je= 9000 mm
B= 0 wQsul= 7637.7 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0027 max( 2900.9, 5135.6)
5135. 6 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.017 0.017
oo= 3.7, 3.1 N/mm2
o= 8.8, 8.1 N/mm2 0. 33Fc-2.75= 3.06 N/mm2 0. 66Fc= 11. 6 N/mm2
to=28.16, 7.84 N/mm2
/£ pQc= Kmin* t o+be*D 47 pQe= 1531.4 kN

= 1593.3 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 1.0, 1.0 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 110 = 7574.5 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( 6320.8, 9711.2)
= 6320. 8 kN

CowQsu= 6320. 8 kN

2F E/7T-91E 5135.6 + 1.0 X 4807
2F E/7T-98 5135.6 + 1.0 X 4807

9942.6 kN  — 9500 kN
9942.6 kN — 9500 kN

S-0087



IF 1/B-C

Fc= 17.6 N/mm2

hw/2= 4940 mm

B FEFE C5 550 X 1200
C Atk G5 550 X 1200
ina t= 375 mm
lwo= 2450 mm
hwo= 4940 mm

BA I loXho= 0

FED i T R OR B X AV TN )

FERE

hco=

Pt=

Pw=

M/ (Qd)=
o0 0=

j:

FAE

hco=

Pt=

Pw=

M/ (Qd)=
o 0=

j:

4940 mm

0.58 %
0. 0004
3
1.9

440

4940 mm

0.58 %
0. 0004
3
1.5 N/mm2
440 mm

0.4b+D+Fc=

cMu=

cQmu=

FEcQsu=

..cQsu

0.4b+D-Fc=

cMu=

cQmu=

FicQsu=

.LcQsu=

#if7 N= 1240.0 kN
SlEEM 10 - ¢22
] 30 - ¢22

HOOP 2 - 69 @
#fi /7 N=  975.0 kN
GG i 10 - ¢22
2fkEn 30 - ¢22
HOOP 2 - 69 @

@R, DI @ 250D
Kefs  DI3 @ 250D
T~ D19 @ 150 &

X 0 %5k 800 mm 5%

ovy= 294 N/mm2
at= 38.00 cm2
ag= 114.00 cm2
250 soy= 294 N/mm2
at= 38.00 cm2
ag= 114.00 cm2
250
ah= 2.54 cm2
ah= 2.54 cm2 o wy= 344 N/mm2
7V 32 A aoy= 345 N/mm2
700 mm

4646.4 kN = = 1240.0 kN

0.8at- o y-D+0. 5N-D (1~

492 + 341 X (1 -
796. 2 kN+m

2+cMu/hco
322.3 kN

(o 053Pt" 2* (18+Fc)
M/Q-d)+0. 12

b-D-Fc )
0.11)

+0. 854/ (Pw*soy)+0.10 0}

(0.53 + 0.3 +0.19) X 1200 x 440

539. 4 kN

322.3 kN P RkEE

4646.4 kN = N=

492 + 268 X (1 -
737.2 kN+m

2+cMu/hco
298. 5 kN

975. 0 kN

0.08)

(0.53 + 0.3 + 0.15) X 1200 x 440

518. 2 kN

298.5 kN ph T HEEER
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—IKFTD & LTcBEDE AW /)

_ 0.23
Z/t 2522 I:II? i wgsul= (O OZ&/P(;):?IH(().I?;FC) +0. 85y (Pse* o wy)+0. 1 0 oe} -be-j- vy
be= 631 mm = (1.05 + 0.63 + 0.1) X 631 X 3000 X 1
Pte= 0.51 9% 0.51 % = 3380.1 kN
Pse= 0.002

M/Ql= 1.41 A wQsul= (1.05 + 0.63 + 0.1) X 631 X 3000 X 1
o oe= 0.99 N/mm2 = 3380.1 kN
je= 3000 mm
B= 0 wQsul= 3380. 1 kN
y= 1
PEERBERRL D8 AW /)

Few= 24 kN/mm2 wQsu’ = max (pw+ o wy, Few/20+0. 5pw* o wy) t*1wo* y
pw= 0.0027 max( 856.3 1530.6 )
1530. 6 kN

KD F o 7T
Kmin= 0. 40
Pg= 0.017 0.017
oo= 1.9, 1.5 N/mm2
o= 1.0, 6.6 N/mm2 0. 33Fc-2.75= 3. 06 N/mm2 0. 66Fc= 11. 6 N/mm2
to="7.28, 7.08 N/mm2
/£ pQc= Kmin* t o+be*D 47 pQe= 1862.9 kN

= 1914.7 kN

WERT I —O8 AW 7
Ec= 2. 04E+4 N/mm2 qal= 0.7 X 345 X 2.87 = 69.31 kN/A
a= 0.7, 0.7 qa2= 0.4 Xy ( 2.04E+4 X 17.6) X 2.87 =  68.86 kN/A

ga= 68.86 kN/A
Qj= 68.86 X 32 = 2203.5 kN

BB S AT BEDR AW
wQsu2= min( wQsu’ +2- o *Qc
Qj+pQc+a *Qc )
=min( 1965.2, 4292.1)
= 1965. 2 kN

CSowQsu= 1965. 2 kN

1-2F 1/B-CIiE 1530.6 + 1.0 X 2921 = 4451.6 kN — 4400 kN
1-2F 1/B-CH& 1530.6 + 1.0 X 2921 = 4451.6 kN — 4400 kN
1-2F 1/E-FIE 1530.6 + 1.0 X 2922 = 4452.6 kN — 4400 kN
1-2F 1/E-F& 1530.6 + 1.0 X 2922 = 4452.6 kN — 4400 kN
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